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LU HaEL 5 el Aol sl Al el s Al dsdl AEH (5 | (&5)
Xl 49,901 109, 771] 53, 337] 56, 434 22 of  -82 34 116 91 409] 318 0 116 116
HI—TH 720l 1,472 716 756 5 4 -1 0 1 5 6 1 0 0 0
FLl T H 579 1,301 647 654 2 10 0 2 2 0 4 4 10 10 0
LI =TH 475 1,041 496 545 -2 -6 -2 1 3 2 2 0 -6 0 6
SulAEH 1,774 3,814 1,859] 1,955 5 8 -3 3 6 7 12 5 4 10 6
Sk —TH 488 930 436 494 -2 -5 0 0 0 -3 2 5 -2 1 3
. = 7411 1,681 802 879 0 2 -1 0 1 3 9 6 0 5 5
SR —TH 564 1,285 611 674 -3 0 -1 0 1 1 3 2 0 0 0
S AT H 403 882 442 440 3 6 0 0 0 6 6 0 0 0 0
ot T H 626/ 1,309 628 681 0 -1 -6 1 7 8 8 0 -3 3 6
BN T B 235 483 243 240 1 1 0 0 0 1 2 1 0 0 0
ARt TH 658 1,611 792 819 -2 —4 0 0 0 -1 3 4 -3 0 3
oA\ T H 398 841 386 455 4 7 -2 0 2 3 9 6 6 6 0
IV B 624[ 1,463 710 753 0 4 -1 1 2 5 12 7 0 3 3
B naatl 4,737 10,485 5,050 5,435 1 of  -11 2 13 23 54 31 -2 18 20
e n—1H 360 786 385 401 0 -2 -1 0 1 -1 2 3 0 0 0
w7 Al 1,0420  2,103] 1,052 1,051 6 6 -2 1 3 8 13 5 0 0 0
HHk o —TH 680[l 1,365 658 707 —6 -12 -5 0 5 -1 2 3 —6 0 6
Wk A EL 2,082 4,254 2,095 2,159 0 -8 -8 1 9 6 17 11 -6 0 6
Mt A — T H 5591 1,235 599 636 0 1 -3 0 3 2 4 2 2 2 0
ek R _TH 358 902 453 449 -1 -3 0 0 0 -3 0 3 0 0 0
Mk R =TH 257 552 285 267 2 2 0 0 0 3 3 0 -1 0 1
ik L G| 566 1,302 662 640 -3 -3 -1 0 1 -2 1 3 0 0 0
msEr aaEtl 1, 740) 3,991 1,999 1,992 -2 -3 —4 0 4 0 8 8 1 2 1
JCE g 391 840 403 437 -1 -2 -2 0 2 1 1 0 -1 1 2
HOEEN— T H 205 420 213 207 6| 12 -1 0 1 -8 0 8 -3 0 3
HOEE T H 449 961 471 490 2 5 -1 0 1 6 9 3 0 2 2
HoEEI =T H 749 1,776 865 911 5 12 1 1 0 4 7 3 7 10 3
HOEEAN T H 853 2,089| 1,049 1,040 16 16 -1 0 1 14 18 4 3 3 0
HEROH T H 433 1,004 507 497 -1 -5 -1 0 1 —4 2 6 0 0 0
HOEEIS T H 393 836 400 436 1 0 -1 0 1 1 2 1 0 0 0
HoEEOETH 689 1,451 719 732 4 -2 1 3 9 9 0 0 2 2
HOEESOSE 3,771 8,537 4,224| 4,313 21 23 -6 2 8 22 47 25 7 17 10
PEEER 1,523 2,708 1,298 1,410 0 -1 -3 0 3 3 5 2 -1 0 1
FHIAR 311 649 331 318 -1 -1 0 1 1 -3 1 4 2 2 0
EE g —T 5611 1,116 524 592 -2 -6 0 1 1 —4 4 8 -2 4 6
EE g — T 256 499 245 254 4 5 0 0 0 5 5 0 0 0 0
R =T H 551 1,176 591 585 3 3 0 0 0 3 3 0 0 0 0
EESN R T H 665 1,313 626 687 -2 -2 -2 1 3 4 8 4 —4 0 4
EEP g R T H 245 548 269 279 -1 -2 0 0 0 2 2 0 —4 0 4
R A3 2 2781 4,652 2,255 2,397 2 -2 -2 2 4 10 22 121 -10 4 14
EEIARRT— T H 715 1,400 663 737 9 12 -1 0 1 9 15 6 4 4 0
EEIARRT T H 687 1,294 593 701 1 2 1 1 0 0 3 3 1 2 1
EEOARRTAE 11,4020 2,694 1,256 1,438 10 14 0 1 1 9 18 9 5 6 1
RPN 272 758 413 345 -3 -3 0 0 0 -2 2 4 -1 0 1
WHR—TH 748 1,643 800 843 0 -1 -2 1 3 -2 1 3 3 4 1
WOOR T H| 1,729 3,869 1,867| 2,002 -2 -6 -6 0 6 4 18 14 —4 0 4
WHR=TH 894 2,214| 1,082| 1,132 3 4 -2 0 2 3 2 3 4 1
HHRIT H 506 1,192 557 635 0 1 -1 0 1 2 1 0 0 0
HPREEH 3,877 8,918| 4,306 4,612 1 -2l -11 1 12 7 27 20 2 8 6
HiR—TH 727 1,574 768 806 4 6 1 2 1 4 8 4 1 1 0
LR - TH 984| 2,280 1,147| 1,133 2 0 0 1 1 -2 4 6 2 2 0
PR =TH 510/l 1,054 536 518 -7 -8 0 0 0 —6 14 20 -2 0 2
bR &EH 2,221l 4,908| 2,451 2,457 -1 -2 1 3 2 —4 26 30 1 3 2
T IROBTHT 332 802 379 423 0 -2 -1 0 1 -1 0 0 0
el 1,635 5,069 2,259 2,810 -3 -8 -6 1 7 -1 -1 2 3
M E T H 802] 1,815 882 933 0 -5 -3 0 3 1 -3 1 4
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FYlE 1T H 784 1,801 896 905 -3 -5 0 0 0 6 0 2
MoE =1 H 638 1,470 725 745 2 3 0 1 1 1 0 0
FAE Y T H 935 2,179] 1,039] 1,140 1 4 1 1 0 2 4 0
RCENNE 680| 1,500 738 762 0 -1 -3 0 3 0 0 1
MAEST H 430 976 450 526 3 -1 0 1 1 2 2
mAlEaE 4,269 9,741] 4,730] 5,011 3 —6 2 8 23 15 7 9
VEPe R 590( 1,152 566 586 -1 2 -1 0 1 3 2 2 3 1
e —TH 330 696 333 363 2 5 0 1 1 1 1 5 5 0
i — T H 594 1,301 620 681 —4 -6 -1 1 2 8 12 -1 0 1
A gl 924 1,997 953| 1,044 -2 -1 -1 2 3 9 13 4 5 1
Eh— 1 H 340 752 382 370 2 4 0 0 0 5 1 0 0 0
B — T H 701 1,424 668 756 1 0 2 2 2 3 1
=T H 432Il 1,079 542 537 -1 -1 -1 1 2 0 1 1 1 0
EAE| 1,473 3,255 1,592| 1,663 2 6 0 2 2 7 4 3 4 1
e —TH 392 923 431 492 -3 -6 -3 0 3 0 3 0 3 3
WHE T H 456 1,077 533 544 -1 -6 -2 0 2 0 4 0 0 0
HWHE =T H 849 2,058| 1,036 1,022 7 10 -1 2 3 11 5 5 5 0
W& T B 440[l 1,000 484 516 3 1 0 0 0 2 4 3 3 0
B E ] H 846/ 1,803 894 909 -3 -8 2 1 0 9 0 0 0
HHIENT H 246 496 247 249 -1 -3 0 0 0 1 1 -3 0 3
HEOEE 3,229  7,357| 3,625 3,732 2l -12 -5 4 9 14 26 5 1 6
<HWE—TH 598 1,315 641 674 -2 -2 -1 1 2 3 4 0 0 0
<HEIL—TH 7100 1,459 718 741 -5 -8 0 1 1 0 8 0 0 0
SHBEIL=TH 508( 1,089 533 556 -1 -3 1 1 0 0 4 0 0 0
<HEWLPTH 581 1,172 565 607 -1 4 1 1 0 3 7 4 0 0 0
<O T H 275 591 313 278 3 1 1 0 3 5 2 0 0 0
<MEEEH 2,672 5,626 2,770 2,856 —6 -5 2 5 3 -7 22 0 0 0
WIE AR —TH 801l 1,685 835 850 -1 0 1 1 0 0 2 2 2 3
WIEAR T H 4811 1,130 579 551 -2 -2 -1 0 1 2 4 2 0 3
WIEARBT AR 1,282 2,815 1,414 1,401 -3 -2 1 1 2 4 2 6
LWl E 417 795 382 413 4 5 0 0 5 4 2 2
ek —TH| 1,181l 1,854 857 997 10 11 0 0 8 9 4 1
e T H 597 1,071 519 552 -2 3 0 0 3 3 2 2
kR =T H 758l 1,815 853 962 -7 -5 -3 0 3 0 4 4 1 3
sk BRI H 436 867 420 447 5 0 -1 0 1 7 13 6 1 7
T B aErl 2,9720 5,607 2,649] 2,958 6 9 —4 0 4 18 40 22 8 13
FRIREET 22 51 25 26 0 0 0 0 0 0 0 0 0 0
B 737 1,720 823 897 —4 -3 -3 0 3 0 9 9 0 0
VEEE 338 719 329 390 -1 -3 -3 0 3 2 2 0 0
e — T H 4591 1,101 543 558 1 -1 -2 0 2 3 2 0 0
e T H 416 915 454 461 0 0 0 0 0 1 2 1 0
oo B R 875 2,016 997 1,019 1 -1 -2 0 2 4 4 1 0
P — T H 693 1,424 710 714 -8 —7 1 1 0 0 6 0 2
P T H 541\ 1,267 596 671 0 -1 -3 0 3 9 6 0 1
Ve A Er] 1,234 2,691 1,306 1,385 -8 -8 -2 1 3 9 12 0 3
P e 312 685 349 336 -1 0 -1 0 1 4 2 0 1
BEHIR 209 465 249 216 1 1 0 0 0 4 3 0 0




